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$
1.) Rechne zuerst die passende Aufgabe des kleinen Einmaleins.

8 •  6 = ____
8 •  60 = ____
9  •  5  = ____
9 •  50 = ____
__  •  __  = ____
4 •  80 = ____
__ •  __ = ____
0 •  20 = ____

2.) Das Zehner-Einmaleins
9 •  80 = ___
2 •  50 = ___
3 •  40 =  ___
7 •  60 = ___
5 •  40 = ___
__ •  70 = 280
6 •  50 = ___
8 •  __ = 800
__ •  60 = 480
9 •  __ = 0
__ •  30 = 240
5 •  __ = 600
8 •  __ = 640
6 •  70 = ___
__ •  80 = 400
7 •  70 = ___
3.) Rechne in Schritten (Zehner – Einer)

7 •  19 = 70 +  63 = ____

5 •  17 = ____+  ____ = ____

3 •  18 = ____+  ____ = ____

4 •  16 = ____+  ____ = ____

6 •  13 = ____+  ____ = ____
8 •  15 = ____+  ____ = ____


4.) Mauern





5.) Grosse Reihen 
	17er Reihe ab
	170
	153
	
	
	
	
	
	
	
	17

	9er Reihe auf
	9
	
	
	
	
	
	
	
	
	90

	Summe
	179
	
	
	
	
	
	
	
	
	


	80er Reihe ab
	800
	720
	
	
	
	
	320
	
	
	

	12er Reihe auf
	12
	
	
	
	60
	
	
	
	108
	

	Unterschied
	
	
	
	512
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